Practice

Match the sentences A-F with the pictures.
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A He’s a bit taller than his sister. @ It’s quite hot.
B It's extremely hot. E He exercises a lot.
C He only exercises a little. F He’s much taller than his sister.
Match the two parts of the sentences. Listen and check.
0 There was no snow last winter because the weather was quite A alot.
1 The heating isn’t turned on so the house is fairly \ B expensive.
2 We stayed in that hotel because it was quite C warm.
3 She didn’t buy it because it was really D alittle.
4 My Spanish isn't very good; I only speak E cold.
5 Ilike studying English F cheap.

Write the sentences again with the words in brackets (). Listen and check.
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Cooking is more interesting than cleaning. (much)

Change the underlined phrases so the sentences are true for you.
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lot taller
Iam aﬂeft—sheﬁer- than my mother.
My country is a little smaller than Scotland.

I am much older than my best friend.

In my country, going to the cinema is extremely expensive.
My home town is fairly small.

The winter is quite warm in my country.

() Go online for more practice and a progress test 81




